Dividing Money (J)

i

10.

Calculate each quotient.

11) $688.60 2. 29 $1270.20 3. 29 ) $358.40
99 ) $8553.60 5. 11) $983.40 6. 95) $3344.00
26 ) $379.60 8 69) $2332.20 9. 40) $2696.00

If 46 identical shirts cost $4342.40, how much did each shirt cost?
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Dividing Money (J) Answers

10.

$ 62.60

11) $688.60
—$660.00
$28.60
—$22.00
$6.60
—$6.60

$0.00

$ 86.40

99 ) $8553.60
—$7920.00

$633.60
—$594.00

$39.60
—$39.60

$0.00

$ 14.60

26 ) $379.60
—$260.00

$119.60
—$104.00

$15.60
—$15.60

$0.00

Calculate each quotient.

$ 43.80

29 ) $1270.20
—$1160.00

$110.20
—$87.00

$23.20
—$23.20

$0.00

$ 89.40
11) $983.40
—$880.00

$103.40
—$99.00

$4.40
—$4.40

$0.00

$ 33.80

69 ) $2332.20
—$2070.00
$262.20
—$207.00
$55.20
~$55.20
$0.00

6.

$ 29.60

29 ) $858.40
—$580.00

$278.40
~$261.00

$17.40
—$17.40

$0.00

_ $3520
95 ) $3344.00
$494.00
—$475.00
$19.00
—$19.00

$0.00

$ 67.40

40 ) $2696.00
—$2400.00

$296.00
—$280.00

$16.00
—$16.00

$0.00

If 46 identical shirts cost $4342.40, how much did each shirt cost? $94.40
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